www.lftool.com £ |

( www.deskar.cn £ )

2008 24

SHL v
60dSE0L-%

£
=520

802080°0M s
oxg2M

8Ly
E0OMEY-02a2

®

& LELWA

Uta R Y1/ ZINeEth </ 2 m th/imfL G

U-drill series/multifunctional drill bits/)JCD- drills/deep hole drills



0 D

About Us 23&n

KNENNZFEEW

NigERETR (L) BIRAE (ATEMATS) LEFiTL S —EHE ERMmI SN,
ERSARXRX--FEAWLMT, JFIETWEXA .,

HERXREN ASHEIESERTHOETTZRM, HE—XBANMHAHF AWML, B
R —IREOIEEIETIRET S, WRETINES K. BM@RSe Xt TE™E, PVDIRBETE,
HAXILT SR, WA A —MEHLPIN,

FBPF&MA KLITWAEPRESHmEIIIFmERNPVDIICVDRE, BREE. EEME
MEATIHFRESHEEREA]. wHl. i, 581, ML IR OISR TR REENSIER
NE, AEGESSHIIMRIEENT . FEINIEN e EEE . RASNELES
IREW . [SETW. METWHAHTAITIEFMINITIE, ERESEFPHIMRFRRREREETSE
MAITR, ANmTHNSRARERBRRATGR.

EENEHRESNE NONEHKMRANESENEE, TEREREI ABPH—BFT. ™&E
IR SAM.

NOREMNRBEEE QTR0 “TIRREEX, BITRT; MEEL, REER" &L
B, A “FedERETIW ABN. Zf “BFFE—" BIRNAT ABPR|]MEERS. 2828N
GB/T19001-2008/I1SO9001:2008FREBEEMAIAIL.

RN SRE £NE, BIRBAFNETHSRE, EEMASIMiALRE ISR ARRT,
ASHER. BAMRENZEERITAENFRIE, XBETEWSEE, 275, HS0MRRE, WRAT
BEFZHEHNE .

RRAHkE E2S5HRREET, BANTEBHN RN BRRNRAET, XZ/N0IKERE . X7
T ERERFIRRNIIANIRSWKINEIAEBER . RE THRIARENE, X7TEEESRRIELED
HREEIEEE.

POWERFUL LIFENG ENTERPRISE

LIFENG PRECISION TOOLS (ZHEJIANG) CO., LTD (hereinafter referred to as the Company) is located in the
first rays of the new century's first Wenling, Zhejiang, according to the State 5A level scenic spot -—--Hill foot,
Lantau industrial park inside.

The company has strong technical strength in today's world of advanced production technology, with a
strong research and development team, with world-class indexable CNC blade production line, NC Arbor
production line, production line of solid carbide end mills, PVD coating production line, and set up a collection
of scientific research, applied research as one of the research center.

Outstanding product advantages Our company specializes in providing customers with a variety of standard
and non-standard PVD and CVD coatings, cemented carbide, cermet and aluminum with a blade and other
brands of high-precision turning, milling, cutting, drilling, grooving and indexable thread machining CNC
blade and supporting high-precision cutting tools, and with a variety of processing of materials suitable for
finishing and semi-finishing and roughing the corresponding chip-breaking groove. My company has introduced
for the mold industry, the automotive, aerospace and advanced cutting tools and hole cutting tools, according
to the different needs of customers to sample plans to produce various kinds of cutting tools for machining
manufacturing to provide complete solutions.

Perfect marketing and service network in the company's marketing and service network throughout the country,
the product quality by the majority of users praise. Products are exported to all continents.

Limitless brand gold company vigorously promote "strive for perfection, the front line of the world; customer
first, forge ahead" spirit of enterprise, to "revitalize national industry" as the goal. Adhere to the "customers
first" principle to provide our clients with quality services. The company has passed GB/T15001-2008/
ISO9001: 2008 quality management system certification.

Corporate social responsibility in LIFENG, we do our best to fulfill their social responsibilities, in the global
and local market principles of sustainable development, lead by example. Our code of conduct in accordance
with Lifeng work, which includes corporate diversity, economic, social and environmental responsibility, and
corporate governance and other aspects of content.

Future challenges in today's competitive landscape, we are trends timely and rapid response capability,
which is essential. Ever-changing world of insight and awareness are key elements of a successful career.
Only by understanding the challenges of tomorrow, we can work out in today's strategic vision to the future,



U4k (U-Drill)

®

WCH! % 7L55/U%L 2D WC tyge U-drill 2D

£ 8l % B (Drilling depth): 2xD

mRme S T D T NEES g | BF | E#
Specification and model Insert model Screw |Wrench|Stock
C20-2D14-31WC03 14 31 101 *
C20-2D14.5-32WC03 14.5 32 101 *
C20-2D15-33WC03 15 33 102 *
C20-2D15.5-34WC03 15.5 20 34 50 103 WC_ 030208 | M2.5x5 T8 *
C20-2D16-35WC03 16 35 103 *
C20-2D16.5-36WC03 16.5 36 104 *
C20-2D17-37WC03 17 37 104 *
C20-2D17.5-38WC03 17:5 38 105 *
C20-2D18-39WC03 18 39 105 *
C20-2D18.5-40WC03 18.5 40 106 *
C20-2D19-41WC03 19 20 41 50 106 WC__030208 | M2.5x6 T8 *
C20-2D19.5-42WC03 19.5 42 107 *
C20-2D20-43WC03 20 43 108 *
C20-2D20.5-44WC03 20.5 44 108 *
C20-2D21-45WC04 21 45 109 *
C20-2D21.5-46WC04 215 46 109 *
C20-2D22-47WC04 22 47 111 *
C20-2D22.5-48WC04 22:5 48 115 *
C20-2D23-49WC04 23 20 49 50 115 WC_040208 | M2.5x7D | T8 *
C20-2D23.5-50WC04 23:5 50 115 *
C20-2D24-51WC04 24 51 116 *

C20-2D24.5-52WC04 24.5 52 117
C20-2D25-53WC05 25 53 117 WC__050308 M3x7 T10 *

< C G e

=
N



U%s (U-Drill)

U%4 (U-Drill)

WCH! % 7L55/U%L 2D WC tyge U-drill 2D

55 #)iE B (Drilling depth): 2xD

WCH! % 7L54/U%h 2D WC tyge U-drill 2D

5L &% B (Drilling depth): 2xD

€< £

=
(%]

Amms P T RS B | BE | G LS o | a lu || L KBS i | BF | EH
Specification and model Insert model Screw |Wrench|Stock Specification and model Insert model Screw |Wrench|Stock
C25-2D14-31WC03 14 31 108 * 355133 TOWETR 53 70 T %
E;g‘ig;':i';vi‘é’ém "14; :i 1?2 : C32-2D33.5-71WC06 335 71 153 *
ETerS TV *
C25-2D15.5-34WC03 155 | 25 | 34 | 56 | 110 | WC_030208 | M2.5x5 | T8 | * £82-200-FRNEDD 34 4e 156 N
e P DE-3EWED 16 = —= . C32-2D34.5-73WC06 345 73 156
C25-2D16.5-36WC03 16.5 36 111 * €32-2D35-74WC06 35 74 157 *
C25-2D17-37WC03 17 37 113 * C32-2D35.5-75WC06 355 75 157 *
C25-2D17.5-38WC03 175 38 114 * C32-2D36-76WC06 6 |, | 76| | 161 *
C25-2D18-39WC03 18 39 115 " C32-2D36.5-77WC06 36.5 77 161 *
C25-2D18.5-40WC03 18.5 40 116 * C32-2D37-79WC06 37 79 763 | WELUST308 | B [ TR [
C25-2D19-41WC03 19 | 25 | 41 | 56 | 116 | WC_030208 | M25x6 | T8 | * R R e 50 s %
gg‘gg;g'i:\;‘g’;“ 12965 :g 11; = C32-2D38-81WCO06 38 81 165 *
- - 5 5 ] *
C25-2D20.5-44WC03 20.5 44 118 * £32-2D38.5-02WC06 48,5 A 165
C25-2D21-45WC04 21 45 119 % GaR-FRRI-AIWNCAG =3 43 168 *
C25-2D21.5-46WC04 21.5 46 119 * C32-2D39.5-84WC06 39.5 84 168 *
C25-2D22-47WC04 22 47 121 % C40-2D40-85WC06 40 85 181 *
C25-2D22.5-48WC04 22.5 48 121 * C40-2D41-87WC06 41 87 183 *
C25-2D23-49WC04 23 | o5 [Tao | 56 |12z | WE-D4020E |MEEGD| I8 1 C40-2D42-89WC08 42 89 185 *
C25-2D23.5-50WC04 23.5 50 122 * C40-2D43-91WC08 43 91 187 *
et Ll 51 124 * C40-2D44-93WC08 aa | o [93 | [ 189 *
gg-ggi:i?j’\gém 224_%5 gi E: C_ 050308 3x8 10 : €40-2D45-95WC08 - L L s
- - we_05 L T C40-2D46-97WC08 46 97 193 *
C32-2D25.5-54WC05 25.5 54 137 *
E 555D S EWETE 55 = 35 = C40-2D47-99WCO8 47 99 195 *
C32-2D26.5-56WC05 26.5 EE 138 % C40-2D48-101WC08 48 101 197 *
C32-2D27-57WC05 27 57 139 * C40-2D49-103WC08 49 103 199 *
C32-2D27.5-58WC05 27.5 58 139 * C40-2D50-105WC08 50 105 201 "
WC_ 080412 | M4x10 | T15
C32-2D28-59WC05 28 | 32 | 59 | 60 | 140 | WC_050308 | M3x8 | T10 | * C40-2D51-107WC08 51 107 203 = X *
C32-2D28.5-60WC05 28.5 60 140 * C40-2D52-109WC08 52 109 205 o
L2 -2H23-62WCDS 23 62 Lz X C40-2D53-111WC08 53 111 207 *
=on s s (B [ : cimsiwess | si | [, s :
- - 40-2D55-115W 11 211 *
C32-2D30.5-65WC05 30.5 65 144 * SH0-SHEE-TIEN e g2 d o
e -~ " = . C40-2D56-120WC08 56 120 220
C32-2D31.5-67WC06 31.5 67 151 * C40-2D57-122WC08 57 122 222 W
C32-2D32-68WC06 32 32 68 60 151 WE_D6T308 W25 T15 * C40-2D58-124WC08 58 124 224 #*
C32-2D32.5-69WC06 32.5 69 152 * C40-2D59-126WC08 59 126 226 %

< C G e

"
=



€< £

U%h (U-Drill) U%4 (U-Drill)

WCE! % FL5h/U%k 2D WC tyge U-drill 2D WCE! % 7L54/U%% 3D WC tyge U-drill 3D

5L &% B (Drilling depth): 2xD 55 #)iE B (Drilling depth): 3xD

MRS B a i i 0 NS 747 BFE | ERF MBS D T L NRES 1247 wF | EF
Specification and model Insert model Screw |Wrench|Stock Specification and model Insert model Screw |Wrench|Stock
C40-2D55-115WC06 55 115 211 * €20-3D14-45WC03 14 45 115 *
S — ce - 520 = C20-3D14.5-47WC03 14.5 47 116 *

- - *
C40-2D57-122WC06 57 122 222 * €20-3DT5-48WC03 1 =0 7
C20-3D15.5-50WC03 155 | 20 | 50 | 50 | 118 | WC_030208 | M2.5x5 | T8 | *
C40-2D58-124WC06 58 124 224 *
C20-3D16-51WC03 16 51 119 *
C40-2D59-126WC06 59 126 226 *
C20-3D16.5-53WC03 16.5 53 120 *
- : *
C40-2D60-128WC06 60 128 228 P ————— = - o N
G40-208]-1T0Nean 5 180 28z = C20-3D17.5-56WC03 175 56 123 *
C40-2D62-132WC06 62 132 234 * C20-3D18-57WC03 18 57 123 %
C40-2D63-134WC06 63 134 236 * C20-3D18.5-59WC03 18.5 59 125 *
C40-2D64-136WC06 64 136 238 * C20-3D19-60WC03 19 | 20 | 60 | 50 | 125 | WC_030208 | M25x6 | T8 | *
C40-2D65-138WC06 65 138 240 * C20-3D19.5-62WC03 19.5 62 127 *
C40-2D66-142WC06 66 142 242 * €20-3D20-63WC03 20 63 127 *
C40-2D67-144WC06 67 144 244 » €20-3D20.5-65WC03 20.5 65 129 *
40 70 WC__06T308 | M3.5x9 | T15 : i
C40-2D68-146WC06 68 146 246 - * C20-3be]-BoWCOA ol 66 140 il
C20-3D21.5-68WC04 21.5 68 131 *
C40-2D69-148WC06 69 148 248 *
C20-3D22-69WC04 22 69 133 *
C40-2D70-150WC06 70 150 250 *
€20-3D22.5-71WC04 22.5 71 138 *
C40-2D71-152WC06 71 152 252 * WC__040208 | M2.5x7D | T8
C20-3D23-72WC04 23 | 20 | 72 | 50 | 138 *
C40-2D72-154WC06 2 154 254 * C20-3D23.5-74WC04 285 74 139 *
C40-2D73-156WC06 73 156 256 * C20-3D24-75WC04 24 75 139 *
C40-2D74-158WC06 74 158 258 * C20-3D24.5-77WC04 24.5 i 142 *
C40-2D75-160WC06 75 160 260 * C20-3D25-78WC05 25 78 142 | WC_050308 | M3x8 | T10 | *
C40-2D76-162WC06 76 162 262 *
C40-2D77-164WC06 77 164 264 *
C40-2D78-166WC06 78 166 266 *
C40-2D79-168WC06 79 168 268 *
C40-2D80-170WC06 80 170 270 *

< C G e



U%s (U-Drill)

U%4 (U-Drill)

WCE! % 7L54/U%% 3D WC tyge U-drill 3D

§% &R (Drilling depth): 3xD

WCH! % 7L 54/U%4 3D WC tyge U-drill 3D

580 B (Drilling depth): 3xD

€< £

=
-

&

\Gs/

Err N ETIE NEmE w1 | ®mFE | B  mRuS s e e | e L By | WE | B
Specification and model Insert model Screw |Wrench|Stock Specification and model Insert model Screw |Wrench|Stock
(23 L14"45WE0d 14 i 10k ot C32-3D33-103WC06 33 103 185 *
E;?ig]?i;&"’géﬂe} 114: j; 1?2 : C32-3D33.5-105WC06 33.5 105 186 *
€25-3D15.5-50WC03 155 | 25 | 50 | 56 | 112 | WC 030208 | M2.5x5 | T8 * Ed2-3034-1HEWETE b Th8 130 &
C25-3016-51WCO03 16 T 113 - o €32-3D34.5-108WC06 345 108 191 *
C25-3D16.5-53WC03 16.5 53 127 * €32-3D35-109WC06 35 109 192 *
C25-3D17-54WC03 17 54 128 * C32-3D35.5-111WC06 355 111 193 *
€25-3D17.5-56WC03 17.5 56 130 * €32-3D36-112WC06 36 s, L1121 o | 197 *
C25-3D18-57WC03 18 57 131 * C32-3D36.5-114WC06 36.5 114 198 *
C25-3D18.5-59WC03 18.5 59 133 * C32-3D37-116WC06 37 116 200 WC__06T308 M3.5x9 T15 *
€25-3D19-60WC03 19 25 | 60 | 56 | 134 | WC_ 030208 | M2.5x6 | T8 * C32-3D37.5-118WC06 375 118 201 %
C25-3D19.5-62WC03 19.5 62 136 * =9 DTS o= = o "
Sl ol ey s lad i C32-3D38.5-121WC06 38.5 121 204 *
C25-3D20.5-65WC03 20.5 65 139 *

C25-3D21-66WC04 51 = e = C32-3D39-122WC06 39 122 205 n
C25-3D21.5-68WC04 215 68 142 x C32-3D39.5-124WC06 39.5 124 206 "
C25-3D22-69WC04 22 69 146 * C40-3D40-125WC06 40 125 221 *
C25-3D22.5-71WC04 22.5 71 148 w C40-3D41-128WC06 41 128 224 *
C25-3D23-72WC04 23 o5 T2z | 56 e | WS-D0R08 | MEBKD| I8 * C40-3D42-131WC08 42 131 S *
C25-3D23.5-74WC04 23.5 74 151 * C40-3D43-134WC08 43 134 230 *
§25-2031-T5WE0D 24 75 152 * C40-3D44-137WC08 44 137 233 *
C25-3D24.5-77WC04 24.5 77 163 * 06 S TAE S ATWETS 3 W ol ™ o *
S L L Lt N C40-3D46-143WC08 46 143 239 -
C32-3D25.5-80WCO05 25.5 80 165 *

SR = T r T C40-3D47-146WC08 47 146 242 *
C32-3D26.5-83WC05 265 83 167 > C40-3D48-149WC08 48 149 245 *
C32-3D27-84WC05 27 84 168 * C40-3D49-152WC08 49 152 248 *
C32-3D27.5-86WCO05 215 86 169 * C40-3D50-155WC08 50 155 251 -
FSa5Tn TTVIEHE = sx [y | &m [agg ] C.050308 M3xg | T10 |~ iG-S AEaICHS > ea 554 | WC_080412 | M4x10 | T15 |
C32-3D28.5-89WC05 28.5 89 172 * C40-3D52-161WC08 52 161 257 +*
€32-3D29-91WCUS 29 91 173 X C40-3D53-164WC08 53 164 260 *
s o = 150 R C40-3D54-167WC08 4| 4y |67 ] 5, [263 *
C32-3D30.5-96WCO5 30.5 96 182 % S1D-8P55-1 TOWEHD 25 170 ek *
C32-3D31-97WCO06 3 97 183 = C40-3D56-176WC08 56 176 276 *
C32-3D31.5-99WC06 315 99 184 * C40-3D57-179WC08 57 179 279 w
C32-3D32-100WC06 32 | 32 001 ©° WC_06T308 | M3.5x9 | T15 — C40-3D58-182WC08 58 182 282 *
C32-3D32.5-102WC06 32,5 102 * €40-3D59-185WC08 59 185 285 e

< C G e



U%s (U-Drill)

U%4 (U-Drill)

WCH! % 7L 54/U%4 3D WC tyge U-drill 3D

WCH! % 7L55/U%% 4D WC tyge U-drill 4D

&4 #1i% B (Drilling depth): 3xD &% B3% B (Drilling depth): 4xD

€< £

MAEE S 5 ol T i NEES By | BFE | E#H MRS . d || e . NEES BT | WF | ERF
Specification and model Insert model Screw |Wrench|Stock Specification and model Insert model Screw |Wrench|Stock
C40-3D55-170WC06 55 170 266 * €20-4D14-59WC03 14 59 129 *
C40-3D56-176WC06 o6 176 >76 = C20-4D14.5-61WC03 145 61 130 *

4 = *
C40-3D57-179WC06 57 179 279 * €20-4DT5-63WC03 1 63 132
C20-4D15.5-65WC03 15,5 | 20 | 65 | 50 | 133 | WC_030208 | M25x5 | T8 | %
C40-3D58-182WC06 58 182 282 *
C20-4D16-67WCO03 16 67 135 *
C40-3D59-185WC06 59 185 285 *
C20-4D16.5-69WC03 16.5 69 136 *
= “ *
C40-3D60-188WC06 60 188 288 P ———— - = po— N
C40-3D61-193WC06 61 193 293 * oA B 8 = — =
C40-3D62-196WC06 62 196 296 * C20-4D18-75WC03 18 75 a1 .
C40-3D63-199WC06 63 199 299 * C20-4D18.5-77WC03 18.5 77 143 *
C40-3D64-202WC06 64 202 302 * C20-4D19-79WC03 19 | 20 | 79 | 50 | 144 | WC_030208 | M25x6 | T8 | *
C40-3D65-205WC06 65 205 305 * C20-4D19.5-81WC03 19.5 81 146 *
C40-3D66-208WC06 66 208 308 * C20-4D20-83WC03 20 83 147 *
C40-3D67-211WC06 67 211 311 * €20-4D20.5-85WC03 20.5 85 149 il
40 70 WC__06T308 | M3.5x9 | T15 _ E
C40-3D68-214WC06 68 214 314 - * $20-4D21-67WL03 2l d it *
C20-4D21.5-89WC04 21.5 89 152 *
C40-3D69-217WC06 69 217 317 *
C20-4D22-91WC04 22 91 154 *
C40-3D70-220WC06 70 220 320 e
C20-4D22.5-93WC04 225 93 160 *
C40-3D71-223WC06 71 223 323 * WC__040208 | M2.5x7D | T8
C20-4D23-95WC04 23 | 20 | 95 | 50 | 161 *
Cab-aRizaLNEDh s i aes * C20-4D23.5-97WC04 235 97 162 *
C40-3D73-229WC06 73 229 329 * C20-4D24-39WCO4 24 99 163 e
C40-3D74-232WC06 74 232 332 * C20-4D24.5-101WC04 24.5 101 166 *
C40-3D75-235WC06 75 235 335 * C20-4D25-103WC05 25 103 167 | WC_050308 | M3x8 | T10 | *
C40-3D76-238WC06 76 238 338 *
C40-3D77-241WC06 77 241 341 *
C40-3D78-244WC06 78 244 344 *
C40-3D79-247WC06 79 247 347 *
C40-3D80-250WC06 80 250 350 *

< C G e

—
[—]



U%k (U-Drill) U%4 (U-Drill)
WCH! % FL5h/U%h 4D WC tyge U-drill 4D WCE! % 7.5/ U%% 4D WC tyge U-drill 4D

€< £

—
N

A% B (Drilling depth): 4xD S5 H1;R B (Drilling depth): 4xD
7
M b | a4 lwulwl L NRBE Bl | WF |EF
Specification and model Insert model Screw |Wrench|Stock
C32-4D34-140WC06 34 140 224 *
C32-4D34.5-142WC06 34.5 142 225 *
AT S b | a |t || o | AEES T ma [ ®F [EE C35-4D35 5. TAWC TS 3o 45 555 x
Specification and model s Insert model Screw |Wrench|Stock : :
C32-4D36-148WC06 36 148 233 *
C25-4D14-59WC03 14 59 136 * C32-4D36.5-150WC06 365 | 5, [150] 234 *
€25-4D14.5-61WC03 14.5 61 138 * €32-4D37-153WC06 37 153 237 *
- C32-4D37.5-155WC06 375 155 238 | WC_06T308 | M3.5x9 | T15 —
€25-4D15-63WC03 15 63 140 C32-4D38-157WC06 38 157 240 %
C€25-4D15.5-65WC03 155 | 20 | 65 56 141 WC_ 030208 | M2.5x5 T8 * C32-4D38.5-159WC06 38.5 159 242 *
C25-4D16-67WC03 16 67 143 * C32-4D39-161WC06 39 161 244 *
C32-4D39.5-163WC06 39.5 163 246 *
C€25-4D16.5-69WC03 16.5 69 144 +* C20-4D10-165WCO6 a0 16z 61 %
C€25-4D17-71WC03 17 71 147 * C40-4D41-169WC06 41 169 265 *
C25-4D17.5-73WC03 17.5 73 149 * C40-4D42-173WC08 42 173 269 *
C40-4D43-177WC08 43 177 273 *
C25-4D18-75WC03 18 L 151 i C40-4D44-18TWC08 aa_| o (181 .. 277 x
C25-4D18.5-77WC03 18.5 77 152 * C40-4D45-185WC08 45 185 281 *
C€25-4D19-79WC03 19 25 79 | 56 154 | WC__ 030208 | M2.5%6 T8 * gjg-:g:g-]ggwggg ig }gg égg :
C€25-4D19.5-81WC03 19.5 81 155 * CI0-4AD A8 AT WS i e So3 =
€25-4D20-83WC03 20 83 157 * C40-4D49-201WC08 49 201 297 *
€25-4D20.5-85WC03 20.5 85 159 * C40-4D50-205WC08 50 205 301 WC_ 080412 | Maxio | T15 *
C25-4D21-87WC04 1 37 160 * C40-4D51-209WC08 51 209 305 *
C40-4D52-213WC08 52 213 309 *
C25-4D22-91WC04 22 91 164 * C40-4D54-221WC08 54 a0 L2211 44 317 *
C40-4D55-225WC08 55 225 321 *
: (B . *
LE3 Hlee 3 JAWEGe 4.9 93 166 WC_ 040208 | M2.5x7D| T8 C40-4D56-232WC08 56 232 332 *
€25-4D23-95WC04 23 25 95 56 168 * C40-4D57-236WC08 57 536 336 =
€25-4D23.5-97WC04 23.5 97 169 * C40-4D58-240WC08 58 240 340 ¥
: 5 % C40-4D59-244WC08 59 244 344 ¥
Cé5 D21 gaCon a4 39 T7E C40-4D55-225WC06 55 225 321 %
C25-4D24.5-101WC04 24.5 101 173 * C40-4D56-232WC06 56 33> 332 =
€25-4D25-103WC05 25 103 175 * C40-4D57-236WC06 57 236 336 *
C32-4D25.5-105WCO05 25.5 105 188 * gjg-iggg-gﬂwggg ;g 332 gjg :
C32-4D26-107WC05 26 107 189 * C10-4DE0-34BWC0E 20 543 343 =
C32-4D26.5-109WCO05 26.5 109 191 * C40-4D61-254WC06 61 254 354 *
C32-4D27-111WCO05 27 111 192 * C40-4D62-258WC06 62 258 358 *
C40-4D63-262WC06 63 262 362 *
C€32-4D27.5-113WCO05 27.5 113 194 P — — — * C40-4D64-266WC06 64 566 366 x
C32-4D28-115WC05 28 32 115 60 196 - * C40-4D65-270WC06 65 270 370 *
C32-4D28.5-117WC05 28.5 117 197 * gjg-igg?-ié;gwggg g? g;g g;g :
_ _ N E WC__06T308 | M3.5x9 | T15
C€32-4D29-120WC05 29 120 200 * C20-4DEB-282WC06 8 40 —5g5 70 382 - 2
C32-4D29.5-122WC05 29.5 122 201 * C40-4D69-286WC06 69 286 386 *
C32-4D30-124WC05 30 124 203 * C40-4D70-290WC06 70 290 390 *
C40-4D71-294WC06 71 294 394 *
C32-4D30.5-126WCO05 30.5 126 205 * CA04D72-795WC0E = 598 = o
C32-4D31-128WC06 31 128 212 * C40-4D73-302WC06 73 302 2402 *
C32-4D31.5-130WC06 31.5 130 214 * C40-4D74-306WC06 74 306 406 *
0 3 C40-4D75-310WC06 75 310 410 *
G52 1DBE-132WLOE L 32 152 60 A WC 06T308 | M3.5x9 | T15 - C40-4D76-314WC06 76 314 414 *
€32-4D33-136WC06 33 136 218 * C40-4D78-322WC06 78 322 422 *
" . C40-4D79-326WC06 79 326 426 *
C32-4D33.5-138WC06 335 138 219 * e = = 230 X

< C G e

—
N



U%h (U-Drill) U%4 (U-Drill)

WCE! % 7L54/U%h 5D WC tyge U-drill 5D WCE! % 7L.44/U%% 5D WC tyge U-drill 5D

&4 &% B (Drilling depth): 5xD &% B3% B (Drilling depth): 5xD

€< £

e
2

= = MAEE S NEHE ®E | BT | B
Specific,ftﬁ?a:dmodel D d = Ls - Injs]eﬁgng;el Slfr?w Wifefch Slfofk Specification and model 0 ’ - - 5 IGESINOdS SSBWEIeRelSlo0e
€25-5D14-73WC03 14 73 150
C20-5D14-73WC03 14 73 143 * C25-5D14.5-76WC03 14.5 76 153
' €25-5D15-78WC03 15 78 155
E20-5014-5-TeWc0d 8 76 i * C25-5D15.5-81WC03 15.5 81 157 | WC_ 030208 | M2.5x5 T8
C20-5D15-78WC03 15 78 147 * €25-5D16-83WC03 16 25 | 83 | 56 | 159
€25-5D16.5-86WC03 16.5 86 161
C20-5D15.5-81WC03 15.5 81 149 | WC_030208 | M2.5x5 | T8 * TR T o = i
C20-5D16-83WC03 16 20 83 50 1510 * C25-5D17.5-91WCO03 17.5 91 167
C20-5D16.5-86WC03 16.5 86 153 * e e i i3 + L)
€25-5D18.5-96WC03 18.5 96 171
C20-5D17-88WCO03 17 88 155 * C25-5D19-98WCO03 19 25 | 98 | 56 | 173 | WC_030208 | M2.5x6 | T8 *
€20-5D17.5-91WC03 175 91 158 * €25-5D19.5-101TWC03 19.5 101 175 *
C25-5D20-103WC03 20 103 177 +
C20-5D18-33WC03 18 93 159 ® C25-5D20.5-106WC03 20.5 106 180 *
C20-5D18.5-96WC03 18.5 96 162 * C25-5D21-108WC04 21 108 181 *
€25-5D21.5-111TWC04 21.5 111 184 *
C20-5D19-98WC03 19 | 20 | 98 | 50 | 163 | WC_030208 | M25x6 | T8 * C25-5D22.113WC04 22 113 186 "
€20-5D19.5-101WC03 19.5 101 166 * €25-5D22.5-116WC04 22.5 116 189 | o cumoms |wasam | @ *
e ——— o — — " C25-5D23-118WC04 23 25 | 118 | 56 | 191 — -
€25-5D23.5-121WC04 23.5 121 193 *
€20-5D20.5-106WC03 20.5 106 170 * C25-5D24-123WC04 24 123 196 *
C25-5D24.5-126WC04 24.5 126 198
C20-5D21-108WC04 21 108 171 * FE EThE R = = 5575
C20-5D21.5-111WC04 21.5 1141 174 * C32-5D25.5-131WCO05 25§ 131 214
C20-5D22-113WC04 22 113 176 * (3232013 IWC Do £G LEs i
C32-5D26.5-136WC05 26.5 136 218
C20-5D22.5-116WC04 22.5 116 183 e [— - * C32-5D27-138WCO5 27 138 519
C20-5D23-118WC04 23 | 20 | 118 | 50 | 184 - * €32-5D27.5-141WC05 27.5 141 222 | \wc 050308 | M3x8 | T10
C32-5D28-143WCO5 28 32 [ 143 | 60 | 224 =
C20-5D23.5-121WC04 235 121 186 * C32-5D28.5-146WCOS 285 146 526
C20-5D24-123WC04 24 123 187 % C32-5D29-149WC05 29 149 229
€32-5D29.5-15TWC05 29.5 151 231
C20-5D24.5-126WC04 24.5 126 191 * s e 30 T5A >33
C20-5D25-128WC05 25 128 192 | WC_050308 | M3x8 | T10 | * €32-5D30.5-157WC05 30.5 157 236
C32-5D31-159WC06 31 159 243
€32-5D31.5-162WC06 31.5 162 246
C32-5D32-164WC06 32 164 247
€32-5D32.5-167WC06 325 | 32 | 167 | 60 | 249 | WC_06T308 | M3.5x9 | T15
C32-5D33-169WC06 33 169 251
€32-5D33.5-172WC06 33.5 172 253
C32-5D34-174WC06 34 174 258

< C G e

e
=



€< £

e
[~ 2]

U%k (U-Drill) U%4 (U-Drill)
WCE! % 7L54/U%h 5D WC tyge U-drill 5D SPRIZ FL5h/Ush 2D WC tyge U-drill 2D

&4 &% B (Drilling depth): 5xD £5 4% & (Drilling depth): 2xD

pe] . :
& /
\
mEES 5 1 4 lul el L NEEE By | BF | E#&

Specification and model Insert model Screw |Wrench|Stock
C32-5D34.5-177WC06 34.5 177 260 *
€32-5D35-179WC06 35 179 262 * - -
C32-5D35.5-182WC06 35.5 182 264 *  HBnS D d | 11l Ls L NkES 857 | BT | FfF
C32-5D36-184WC06 36 184 269 * Specification and model Insert model Screw | Wrench| Stock
C32-5D36.5-187WC06 36.5 187 270 W
C32-5D37-190WC06 37 | 32 [ 190 | 60 [ 274 s €20-2D12.5-285P05 12.5 28 98 ol
C32-5D37.5-193WC06 37.5 193 276 | WC_06T308 | M3.5x9 | T15 [ * C20-2D13-295P05 13 29 99 %

- - *
C35-2D35.5-198WC 3.5 193 i . C20-2D13.5-305P05 135 30 99 -

: - 20 50 SP 050204 M2x5 T6

C32-5D39-200WC06 39 200 283 * C20-2D14-31SP05 14 31 100 = *
€32-5D39.5-203WC06 39.5 203 286 *
C40-5D40-205WC06 40 205 301 * C20-2D14.5-325P05 14.5 32 100 *
C40-5D41-210WC06 41 210 306 * 50-2D15-335p ] 101 %
C40-5D42-220WC08 42 220 311 * &0 2-J03H08 2 i3 g
C40-5D43-225WC08 43 225 316 * C20-2D15.5-345P06 15.5 34 102 *
C40-5D44-230WC08 44 230 321 *
C40-5DAE335WCOB T 40 531 70 35 i C20-2D16-355P06 16 35 103 e
C40-5D46-240WC08 46 240 331 e C20-2D16.5-365P06 16.5 36 104 *
C40-5D47-245WC08 47 245 336 =
C40-5D48-250WC08 48 250 341 * €20-2D17-375P06 17 37 105 *
C40-5D49-255WC08 49 255 346 * C20-2D17.5-385P06 17.5 38 106 *
C40-5D50-260WC08 50 260 351 *
C40-5D51-265WC08 51 265 356 1| EOR0ATE | (MY * €20-2D18-395P06 18 39 106 *
€40-5D52-270WC08 52 270 361 * C20-2D18.5-405P06 185 | 20 | 40 | 50 | 107 SP 060204 | M25x5 | T6 *
C40-5D53-275WC08 53 275 366 * =
C40-5D54-280WC08 54 280 371 * C20-2D19-41SP06 19 41 107 *
C40-5D55-285WC08 55 285 376 * 3 = oY
e & o o x C20-2D19.5-425P06 19.5 42 108
C40-5D57-295WC08 57 295 393 % C20-2D20-43SP06 20 43 109 *
C40-5D58-300WC08 58 300 398 -
Cah ihE Wi o P g = C20-2D20.5-445P06 20.5 44 110 =
C40-5D55-285WC06 55 285 376 = C20-2D21-455P06 21 45 111 *
C40-5D56-290WC06 56 290 388 *
CA0-5D57-295WC06 7 T 393 x C20-2D21.5-465P06 2445 46 112 *
C40-5D58-300WC06 58 300 398 15 * C20-2D22-47SP07 22 47 115 *
C40-5D59-305WC06 59 305 403 *
C40-5D60-310WC06 60 310 408 * C20-2D22.5-48SP07 22.5 48 115 *
C40-5D61-315WC06 61 315 415 * C20-2D23-49SP07 23 49 116 e
C40-5D62-320WC06 62 40 320 5, [[220 *
C40-5D63-325WC06 63 325 425 e C20-2D23.5-505P07 235 | 20 | 50 | 50 | 116 | SP_07T308 | M2.5x7 | T8 *
C40-5D64-330WC06 64 330 430 * . 3
C40-5D65-335WC06 65 335 435 * e s il 24 = e i
C40-5D66-340WC06 66 340 440 = C20-2D24.5-525P07 24.5 52 118 *
C40-5D67-345WC06 67 345 445 *
CI0.EDEE SEDWCTE ed e Je5— WC__06T308 | M3.5x9 = C20-2D25-535P07 25 53 119 *
C40-5D69-355WC06 69 355 455 *
C40-5D70-360WC06 70 360 460 *
C40-5D71-365WC06 71 365 465 *
C40-5D72-370WC06 72 370 470 *
C40-5D73-375WC06 73 375 475 *
C40-5D74-380WC06 74 380 480 *
C40-5D75-385WC06 75 385 485 =
C40-5D76-390WC06 76 390 490 *
C40-5D77-395WC06 77 395 495 %
C40-5D78-400WC06 78 400 500 *x
C40-5D79-405WC06 79 405 505
C40-5D80-410WC06 80 410 510

< C G e

—
(7]



€< £

.
b |

U%h (U-Drill) U%4 (U-Drill)

SPA!Z FL54/Ush 2D SPtyge U-drill 2D SPRIZ FL5h/Ush 2D SPtyge U-drill 2D

5L &1;% B (Drilling depth): 2xD $4 4% & (Drilling depth): 2xD

1
o
IS )
Iy
Ls

= B  HRES THRE 1247 wWF | EF

 ARIS D d | L1 | Ls L NHES BT | AF | B Specification and model B d | L1 ]| Ls L Insertmodel | Screw |Wrench|Stock
Specification and model Insert model Screw |Wrench|Stock C32-2D32-68SP09 32 68 152 W
C25-2D12.5-285P05 12.5 28 107 * €32-2D32.5-695P09 325 69 152 *
C25-2D13-295P05 13 29 107 * b it 33 | 3% [Tro| °0 [Tyszt| SP090408 | M3SE | TS T
€32-2D33.5-715P09 335 71 153 *
C25-2D13.5-305P05 13.5 30 108 * €32-2D34-725P11 34 72 156 *
C25-2D14-31SP05 14 31 o8 | Tre0204 | MExa | TE C32-2D34.5-73SP11 34.5 73 156 *
C32-2D35-745P11 35 74 157 x
€25-2D14.5-325P05 14.5 32 109 * €32-2D35.5-755P11 35.5 75 157 *
ceavemsros [ s | 7 [a] " [ : e NS SIS :
C25-2D15.5-345P06 15.5 34 110 * S 22 32 5L 60 g5 3
C25-2D16-355P06 16 35 111 * €32-2D37.5-805P11 375 80 164 | SP_110408 | Max10 | TI5 =5
ravteses 65| (6] [ : R . s S :
C25-2D17-37SP06 17 37 113 * €32-2D39-835P11 39 83 168 *
3 . C32-2D39.5-845P11 395 84 168 *
C25-2D17.5-385P06 17.5 38 114 * €32-2D39.5.845F 2 B4 168 L
C25-2D18-395P06 18 39 114 * C40-2D41-875P11 41 87 183 %
2D18.5- _ ; % C40-2D42-895P14 42 89 185 *
C25-2D18.5-405P06 18.5 40 115 | SP_060204 | M2.5x5 | T6 CA: 202 oSk 12 - 155 2
€25-20713-3TSFUG 13 4 116 * C40-2D44-935P14 44 93 189 *
C25-2D19.5-425P06 195 | 25 | 42 | 56 | 116 * C40-2D45-955P14 45 | 40 [ 95 | 70 [ 191 *
C25-2D20-435P06 20 43 117 * Ca0-2Dae-97er1d ot 2 133 | SP.140512 | M7 | T20 | %
C25-2D20.5-445P06 20.5 44 117 * C40-2D48-1015P14 48 101 197 *
2D21- C40-2D49-1035P14 49 103 199 *
- 2 = i * C40-2D50-1055P14 50 105 201 *
C25-2D21.5-465P06 21.5 46 118 * C40-2D51-107SP07 51 107 203 *
2D22- * C40-2D52-1095P07 52 109 205 *
C25-2D22-475P07 22 a7 121 C40-2D53-111SP07 53 111 207 | SP_07T308 | M25x7 | T8 [ *
C25-2D22.5-485P07 22.5 48 121 * C40-2D54-113SP07 54 113 209 *
C25-2D23-49SP07 23 49 122 % C40-2D55-115SP07 55 115 211 x
- - *

C25-2D23.5-505P07 235 | 25 | 50 | 56 | 122 * $40-2056-1205809 28 120 220 X
C25-2D24-515P07 24 51 123 * C40-2D58-1245P09 58 124 224 *
C40-2D59-1265P09 59 126 226 *
C25-2D24.5-525P07 245 52 138 | o poenn | wome | wm L E $40-2D59-1265F09 22 128 226 X
C25-2D25-535P07 25 53 124 = * C40-2D61-1325P09 61 132 232 | SP_090408 | M35x9 | T15 [ *
3 " C40-2D62-1345P09 62 134 234 *
C32-2D25.5-545P07 25.5 54 137 * §40-2D62-1345P09 62 134 234 x
€32-2D26-555P07 26 55 137 * C40-2D64-1385P09 64 138 238 *
C32-2D26.5-565P07 265 | 32 | 56 | 60 | 138 * C40-2D65-1405P09 65 | 4o 140 .4 [“240 *
C40-2D66-1425P09 66 142 242 *
€32-2D27-575P07 27 57 139 * C40-2D67-1445P11 67 144 244 *
C32-2D27.5-585P07 27.5 58 139 * C40-2D68-1465P11 68 146 246 *
C40-2D69-1485P11 69 148 248 *
C32-2Dag-2d5P0° &b 2 Lo ® C40-2D70-1505P11 70 150 250 *
C32-2D28.5-605P09 285 60 141 * €40-2D71-1525P11 71 152 252 *
C32-2D29-62SP09 29 62 142 % C40-2D72-154SP11 72 154 254 *
C40-2D73-1565P11 73 156 256 | e vmn | maae | TiE R
€32-2D29.5-635P09 29.5 63 143 * C40-2D74-1585P11 74 158 258 = X *
C32-2D30-64SP09 a0 | 2% [ga | 0 [qg | 2F=030808 | M35 | TI8 1— C40-2D75-1605P11 75 160 260 *
C40-2D76-1625P11 76 162 262 *
C32-2D30.5-65SP09 30.5 65 144 * C40-2D77-164SP11 77 164 264 *
C32-2D31-665P09 31 66 151 * C40-2D78-1665P11 78 166 266 *
C32-2D31.5-675P09 31.5 67 151 * 30-2D 9 168501 o _ = L]

< C G e

=



U%h (U-Drill) U%4 (U-Drill)

SPE!Z FL54/U%h 3D SPtyge U-drill 3D SP&IZ FL5h/U%h 3D SPtyge U-drill 3D

5L 1% B (Drilling depth): 3xD %5 4);% & (Drilling depth): 3xD

€< £

e
==

Ls
Mg KBS |y | BE | E#H MBS L NRES BT | WF | R

Specification and model = 4 S L Insert model Screw |Wrench|Stock SEeplealion Sdio ! 0 ‘ o ° ; LA ERENI bSO K
€25-3D12.5-41SP05 125 41 120 s

C20-3D12.5-415P05 12.5 41 111 *

C25-3D13-425P05 13 42 120 *

C20-3D13-425P05 13 42 112 X €25-3D13.5-445P05 B | g [0 | e [ M2 ] o s || o K

C20-3D13.5-44SP05 13.5 5 44 B 113 SH FEGEEN i 5 * C25-3D14-455P05 14 45 122 i X *

C20-3D14-455P05 14 45 114 = X * C25-3D14.5-47SP05 14.5 47 124 *

C20-3D14.5-475P05 14.5 47 115 * C25-3D15-485P05 1‘555 :3 12: *
€25-3D15.5-505P06 : %

-3D15-48SP 1 4 11 *

ey U B - 8 C25-3D16-515P06 16 51 127 *

C20-3D15.5-50SP06 15.5 50 118 * AT T TR = e —

C20-3D16-51SP06 16 s 51 Ef 119 * C25-3D17-545P06 17 54 130 *

C20-3D16.5-53SP06 16.5 53 122 * €25-3D17.5-565P06 175 56 132 *

C20-3D17-545P06 17 54 122 * C25-3D18-575P06 1‘835 :; 1:3 *
€25-3D18.5-595P06 5 | 25 56 SP_060204 | M2.2x5 | T6 | *

-3D17.5-565P 17. 4 * -

G2D-SPT155-505P0R T2 98 12 €25-3D19-605P06 19 60 135 *

C20-3D18-575P06 18 >7 124 % €25-3D19.5-625P06 19.5 62 136 *

C20-3D18.5-595P06 18.5 59 126 SP__ 060204 M2.2x5 T6 * C25-3D20-635P06 20 63 137 *

C20-3D19-605P06 19 60 126 * €25-3D20.5-655P06 20.5 65 138 %

C20-3D19.5-62SP06 195 | 20 | 62 | 50 | 128 * €25-3D21-665P06 22115 gg 13? *
C25-3D21.5-685P06 ; *

e " *

EED-SPEO-RSRN0 Gl 2 e €25-3D22-695P07 22 69 142 *

€20-3D20.5-655P06 20.5 65 131 * AR LT SoE = = *

C20-3D21-665P06 21 66 132 * C25-3D23-725P07 23 72 144 *

C20-3D21.5-68SP06 215 68 134 * €25-3D23.5-74S5P07 235 | 25 | 74 | 56 | 146 %

C20-3D22-695P07 22 69 137 * S L LG 28 i 145 *
C25-3D24.5-775P07 245 77 148 *

I35, ! * :

C20-3D22.5-71SP07 225 71 138 e 5e = 129 | SPO7T308 | M25x7 | T8 [

€20-3D23-725P07 23 72 139 * €32-3D25.5-80SP07 25.5 80 163 x

C20-3D23.5-745P07 235 | 20 | 74 | 50 | 140 | SP_07T308 | M25x7 | T8 | * C32-3D26-815P07 26 81 163 *

C20-3D24-755P07 24 75 141 % €32-3D26.5-835P07 265 | 32 | 83 | 60 | 165 .

C20-3D24.5-77SP07 24.5 77 143 * 233-3057‘845:07 2?;75 :g 12? *

32-3D27.5-865P07 : %
- N *

C20-3D25-785P07 25 78 144 s - = e .
C32-3D28.5-895SP09 28.5 89 169 %
€32-3D29-915P09 29 91 171 ”
€32-3D29.5-935P09 295 93 173 o+

2 P 4 M3. 1
C32-3D30-945P09 30 | 3 [ea | 0 [Ta7a | PP-090408 | MEmE TS I
€32-3D30.5-965P09 305 96 175 %
€32-3D31-975P09 31 97 182 x
€32-3D31.5-995P09 315 99 183 o

< C G e

N



€< £

[ ]
—

U%h (U-Drill) U%4 (U-Drill)

SPELX FLES/USL 3D SPtyge U-drill 3D SPRIK FLE5/USL 4D SPtyge U-drill 4D

§4 %1% E (Drilling depth): 3xD %5 &)X ¥ (Drilling depth): 4xD

£5 D d | L1 | Ls L NNREES 82 §7

A% o -
SPECifica“O"aﬁdmOdﬁ Insert model Screw _|Wrench S{%ofk mﬁﬂ? D d L1 s L NRES 23] wF | EF
C32-3D32-100SP09 32 100 184 * Specification and model Insert model Screw |Wrench | Stock
C32-3D32.5-1025P09 325 102 185 *
€35-3D33-1039P09 3 32 o5 60 ac SP_090408 | M3.5x9 | T15 — C20-4D12.5-53SP05 1215 53 123 *
C32-3D33.5-1055P09 33.5 105 186 * C20-4D13-555P05 13 EE 125 *
C32-3D34-1065P11 34 106 189 *
C32-3D34.5-1085P11 34.5 108 191 * C20-4D13.5-57SP05 13.5 57 126 R — —_ - *
C32-3D35-1095P11 35 109 191 * B X
C32-3D35.5-111SP11 35.5 111 192 * C20-4D14-595P05 14 59 128 *
C32-3D36-1125P11 36 B 198 * 20-4D14.5-61SP 14, 1 12 *
C32-3D36.5-1145P11 36.5 | 3, [114] oo [199 * cap 2-B15R03 2 b g
C32-3D37-116SP11 37 116 200 * C20-4D15-63SP05 15 63 131 *

SP 110408 M4x10 | T15

C32-3D37.5-1185P11 37.5 118 201 = * W R TTL : o 153 =
C32-3D38-1195P11 38 119 203 e -4D15.5-655P 3.5
C32-3D38.5-1215P11 38.5 121 205 * C20-4D16-67SP06 16 67 135 *
C32-3D39-1225P11 39 122 206 *
C32-3D39.5-124SP11 39.5 124 208 * C20-4D16.5-69SP06 16.5 69 137 *
C40-3D40-1255P11 40 125 221 *
C40-3D41-1285P11 41 128 224 % C20-4D17-715P06 17 71 139 *
C40-3D42-1315P14 42 131 227 * C20-4D17.5-73SP06 175 73 141 *
C40-3D43-1345P14 43 134 230 *
C40-3D44-1375P14 44 137 233 * C20-4D18-755P06 18 75 142 *
C40-3D45-140SP14 45 40 [ 140 | 70 | 236 *
CA40-3D42-1435P14 3 143 539 SP_ 140512 Msx11 | T20 C20-4D18.5-77SP06 18.5 - 77 5 144 SP_060204 | M2.2x5 | Té6 *
C40-3D47-1465P14 47 146 242 * C20-4D19-79SP06 19 79 145 e
C40-3D48-1495P14 48 149 245 *
C40-3D49-1525P14 49 152 248 * C20-4D19.5-81SP06 19.5 81 147 *
C40-3D50-1555P14 50 155 251 *
C40-3D51-1585P07 51 158 254 * C20-4D20-835P06 20 83 149 *
C40-3D52-1615P07 52 161 257 * C20-4D20.5-85SP06 20.5 85 151 *
C40-3D53-1645P07 53 164 260 SP_07T308 | M2.5x7 | T8 *
C40-3D54-1675P07 54 167 263 * €20-4D21-87SP06 21 87 153 *
C40-3D55-1705P07 55 170 266 *
CA0-3D56-T735P00 e 776 576 % C20-4D21.5-89SP06 21.5 89 155 *
C40-3D57-179S5P09 57 179 279 * C20-4D22-91SP07 22 91 159 *
C40-3D58-1825P09 58 182 282 *
C40-3D59-1855P09 59 185 285 * C20-4D22.5-935P07 2215 93 160 *
C40-3D60-1885P09 60 188 288 *
C40-3D61-1935P09 61 193 293 | SP_090408 | M3.5x9 | T15 | * C20-4D23-955P07 23 95 162 %
€40-3D62-1965P09 62 196 296 * C20-4D23.5-97SP07 23.5 97 163 | SP_07T308 | M25x7 | T8 | *
C40-3D63-1995P09 63 199 299 *
C40-3D64-2025P09 64 202 302 * C20-4D24-995P07 24 99 165 *
C40-3D65-2055P09 65 205 305 *
C40-3D66-2085P09 66 40 208 70 308 * C20-4D24.5-101SP0O7 24.5 101 167 *
C40-3D67-2115P11 67 211 311 * C20-4D25-1035P07 25 103 169 *
C40-3D68-2145P11 68 214 314 *
C40-3D69-2175P11 69 217 317 *
C40-3D70-220SP11 70 220 320 *
C40-3D71-2235P11 71 223 323 *
C40-3D72-2265P11 72 226 326 *
C40-3D73-2295P11 73 229 329 *
C40-3D74-2325P11 74 232 332 | SP_110408 | M4x10 | T15 —
C40-3D75-2355P11 75 235 335 *
C40-3D76-2385P11 76 238 338 *
C40-3D77-2415P11 77 241 341 *
C40-3D78-244SP11 78 244 344 *
C40-3D79-2475P11 79 247 347 *
C40-3D80-2505P11 80 250 350 *

< C G e

N



U%h (U-Drill) U%4 (U-Drill)

SPRIZFLE/U%s 4D SP tyge U-drill 4D SPRI%Z 7. 54/U%s 4D SP tyge U-drill 4D

5L 1% B (Drilling depth): 4xD $4 4R & (Drilling depth): 4xD

€< £

N
(%]

W
= = IE=) TIREE mFE | ERF
- ﬁfﬁgl‘? D d Ly Ls IL, NRES 5357 RF | EfF Specification and model D d L1 Ls L |n5eﬁ mcﬁiel Si?rifw Wrench|Stock
Specification and model Insert model Screw |Wrench|Stock C32-4D32-132SP09 32 132 216 e
C25-4D12.5-535P05 12.5 53 132 * C32-4D32.5-134SP09 325 134 217 w
TR TERTE 5 = T = €32-4D33-1365P09 33 | 32 [qae| O [pgp | SF--000408 | M35 | TS T
e = = Lo = C32-4D33.5-1385P09 33.5 138 219 *
- .5- ; C32-4D34-140SP11 34 140 223 *
C25-4D14-59SP05 14 59 136 | SP--030204 | M2x5 W T C32-4D34.5-1425P11 34.5 142 225 T x
C32-4D35-144SP11 35 144 226 *
C25-4D14.5-61SP05 14.5 61 138 * C32-4D35.5-1465P11 35.5 146 227 *
C25-4D15-63SP05 15 63 140 * C32-4D36-148SP11 36 148 234 *
C32-4D36.5-150SP11 36.5 150 235 #
C25-4D15.5-655P06 15.5 65 141 * C32-4D37-1525P11 37 | 32 [453 ] 90 [237 x
C25-4D16-67SP06 16 67 143 * C32-4D37.5-1555P11 37.5 155 238 SP__110408 M4x10 5 *
C32-4D38-157SP11 38 157 241 e
C25-4D16.5-695P06 16.5 69 145 * C32-4D38.5-1595P11 38.5 159 243 *
C25-4D17-71SP06 17 71 147 * C32-4D39-161SP11 39 161 245 *
C32-4D39.5-1635P11 39.5 163 247 *
C25-4D17.5-735P06 17.5 73 149 * SR T o L L t
C25-4D18-755P06 18 75 150 * C40-4D41-169SP11 11 169 265 *
- 5. T * C40-4D42-1735P14 42 173 269 *
C25-4D18.5-775P06 18.5 - 77 - 152 SP__ 060204 | M2.2x5 T6 Sl e e S L o =
C25-4D19-795P06 19 79 154 * C40-4D44-181SP14 44 181 277 *
C25-4D19.5-81SP06 19.5 81 155 * C40-4D45-1855P14 45 40 185 | 70 281 *
C40-4D46-189SP14 46 189 285 SP 140512 M5x11 T20 | *
€25-4D20-835P06 20 83 157 * C40-4D47-1935P14 47 193 289 s *
C25-4D20.5-855P06 20.5 85 158 * C40-4D48-1975P14 48 197 283 *
C40-4D49-201SP14 49 201 297 *
C25-4D21-375P06 21 i 160 o C40-4D50-2055P14 50 205 301 =
C25-4D21.5-89SP06 21.5 89 162 * C40-4D51-209SP07 51 209 305 *
B ¥ C40-4D52-2135SP07 52 213 309 *
G25-AD22-JTSP0F 22 Al 164 * C40-4D53-217SP07 53 217 313 SP_07T308 | M2.5x7 | T8 *
C25-4D22.5-935P07 22.5 93 166 * C40-4D54-221SP07 54 221 317 *
C25-4D23-955P07 23 95 167 * C40-4D55-2255P07 55 225 321 *
C40-4D56-2325P09 56 232 332 5
C25-4D23.5-97SP07 23.5 97 169 * C40-4D57-236SP09 57 236 336 *
C25-4D24-99SP07 24 99 170 * C40-4D58-2405P09 58 240 340 *
C25-4D24.5-101SP07 245 101 0B | o immiie || frns | 75 I T R E 27 2ad 244 X
C25-4D25-1035P07 25 103 174 - =8 * C40-4D61-2545P09 61 254 354 SP__090408 | M3.5x8 | T15 *
C40-4D62-2585P09 62 258 358 *
C32-4D25.5-1055P07 255 105 188 +* it Sero = = = .
C32-4D26-107SP07 26 107 189 * C40-4D64-2665P09 64 266 366 *
y B % C40-4D65-2705SP09 65 270 370 *
C32-4D26.5-109SP07 26.5 109 191 el = 40 S 70 543 x
C32-4D27-111SP07 27 111 192 * C40-4D67-278SP11 67 278 378 *
C32-4D27.5-113SP07 27.5 113 194 * EQB'EBSS'ESEEEJ ] gg ggé gg?é :
C32-4D28-1155P09 28 115 196 +* C40-4D70-290SP11 70 590 390 .
C32-4D28.5-117SP09 285 | 32 | 117 | 60 | 197 * C40-4D71-294SP11 71 294 394 *
C32-4D29-1205P09 29 120 200 * 49-4D/2-2985F11 12 298 338 x
C40-4D73-302SP11 73 302 402 SP 110408 Mato | Tre *
C32-4D29.5-1225P09 29.5 122 202 * C40-4D74-306SP11 74 306 406 = *
C32-4D30-1245P09 30 124 203 | °SP--090408 | M3>x8 1 T15 17y C40-4D7 8- IDSPLI b 310 410 | x
C40-4D76-314SP11 76 314 414 *
C32-4D30.5-1265P09 30.5 126 205 * C40-4D77-318SP11 77 318 418 =
» _ * C40-4D78-3225P11 78 322 422 >
£.3274HI5 11,285k 21 128 £13 C40-4D79-326SP11 79 326 426 *
C32-4D31.5-130SP09 31.5 130 214 * C40-4D80-330SP11 80 330 430 *

< C G e

N
=



U%s (U-Drill)

SPA!% 7L54/U%h 5D SP tyge U-drill 5D

55 80;F B (Drilling depth): 5xD

U%4 (U-Drill)

SPRI% FLE5/U%L 5D SPtyge U-drill 5D

S5 H)E B (Drilling depth): 5xD

€< £

N
(=]

s KBS w1 | BE | E%H i D | d ||| L im eI Lo
Specification and model D d L1 Ls [i Irear nodal Serew  |WWrsnchlStock Specification and model Insert model Screw |Wrench|Stock
C25-5D12.5-665P05 12.5 66 144 *
C20-5D12.5-665P05 12.5 66 136 * C25-5D13-68SP05 13 68 146 =
- - - - *
C20-5D13-685P05 13 68 138 * ggs 5013.537;5;05 113.5 ;; :43 SP__ 050204 — - *
C20-5D13.5-715P05 13.5 71 140 * 5-5D14-735P05 4 >
SP__ 050204 M2x5 T6 C25-5D14.5-765P05 14.5 76 153 *
€20-5D14-735P05 14 b ras * C25-5D15-785P05 15 78 155 ®
C20-5D14.5-765P05 14.5 76 144 * €25-5D15.5-81SP06 15.5 81 157 *
C20-5D15-785P05 15 78 146 * €25-5D16-835P06 16 83 159 *
C25-5D16.5-865P06 16.5 86 161 *
GRS s PUD 2 i = L C25-5D17-885P06 17 25 | 88 | 56 | 164 *
C20-5D16-835P06 16 83 151 * €25-5D17.5-91SP06 17.5 91 167 *
C20-5D16.5-865P06 16.5 86 154 * C25-5D18-9395P06 18 93 168 B
C20-5D17-885P06 17 25 156 = C25-5D18.5-965P06 18.5 96 171 SP_ 060204 | M2.2x5 | T6 -
C25-5D19-985P06 19 98 173 *
€20-5D17.5-915P06 17.5 o1 159 i C25-5D19.5-101SP06 19.5 101 175 *
C20-5D18-93SP06 18 93 160 * €25-5D20-103SP06 20 103 177 *
€20-5D18.5-96SP06 18.5 96 163 | SP_060204 | M2.2x5 | T6 | * €25-5D20.5-1065P06 20.5 106 179 *
20 50 - 5 €25-5D21-1085P06 21 108 181 *
S Badil SRR RO i s oA C25-5D21.5-111SP06 21.5 111 184 *
C20-5D19.5-101SP06 19.5 101 167 * €25-5D22-1135SP07 22 113 186 *
C20-5D20-1035P06 20 103 169 * C25-5D22.5-1165P07 22.5 116 189 *
C25-5D23-1185P07 23 118 190 *
el e =i i o B C25-5D23.5-121SP07 235 | 25 [ 121 ] 56 | 193 *
C20-5D21-1085P06 21 108 174 * C25-5D24-123SP07 24 123 194 %
- - - .5- . *
C20-5D21.5-1115P06 21.5 111 AT * gg :g;g 51;8256:;707 2;55 Eg :g; sp_07T308 | M25x7 | T8 x
C20-5D22-113SP07 22 113 181 * . J
C32-5D25.5-1315P07 25.5 131 214 *
C20-5D22.5-1165P07 225 116 183 * C32-5D26-1335P07 26 133 215 .
C20-5D23-1185P07 23 118 185 * C32-5D26.5-136SP07 265 | 32 | 136 | 60 | 218 e
€20-5D23.5-121SP07 23.5 121 187 | SP_07T308 | M25x7 | T8 | * E;;:B;;; iii:?w 22775 li? :;3 :
C20-5D24-1235P07 24 123 189 * R ETTT e T o -
C20-5D24.5-126SP07 24.5 126 192 * C32-5D28.5-1465P09 285 146 DG *
C20-5D25-1285P07 25 128 194 * C32-5D29-149SP09 29 149 229 *
€32-5D29.5-1525P09 29.5 152 231 *
C32-5D30-1545P09 30 Wi B [TEEg | SR PRDAGR | MaESG | T6 e
€32-5D30.5-157SP09 30.5 157 236 *
C32-5D31-1595P09 31 159 244 *
C32-5D31.5-162SP09 315 162 246 *
C32-5D32-1645P09 32 164 248 *
C32-5D32.5-167SP09 32.5 167 250 *
C32-5D33-1695P09 33 32 69| %0 [ 259 E.AH0NE | M0 | TR T
C32-5D33.5-1725P09 33.5 172 253 *

< C G e

N
(7]



U%s (U-Drill)

SPA!% 7L54/U%h 5D SP tyge U-drill 5D

U%s (U-Drill)
WCEH! % 7L54/U%h /M FLEE WC tyge U-drill Small Diameter

55 80;F B (Drilling depth): 5xD

€< £

[ ]
-

AL A 2 TERE #8457 HE | EE ; _ﬁ!fﬁﬁ!%‘ D Ds L1 Ls L TIH&ES 92 £7 wWF | EF
Specification and model D d L Ls L T Soraw  |WrenchiStoek Specification and model Insert model Screw |Wrench|Stock
C20-2D10-22WC02 10 22 88 *
C32-5D34-174SP11 34 174 257 * €20-2D70.5-23WC02 105 >3 89 -
C32-5D34.5-177SP11 34.5 177 260 * C20-2D11-24WC02 1 24 90 *
C32-5D35-1795P11 35 179 261 * C20-2D11.5-25WC02 115 | 55 125 | 5 91 WC_ 020104 | M1.8x4 | T6 *
C32-5D35.5-1825P11 35.5 182 263 * RelrablasabEle il =5 3 L
C20-2D12.5-27WC02 12.5 27 95 *
C32-5D36-1845P11 36 184 270 * C20-2D13-28WC02 13 58 9% i
C32-5D36.5-187SP11 36.5 - 187 s 272 * C20-2D13.5-29WC02 13.5 29 96 *
C32-5D37-1905P11 37 190 274 *
C32-5D37.5-1935P11 37.5 193 276 SRLTTDAE | MRl [ T8 =
- 5- : = ) 2
; .ﬂ"fﬁi? D Ds L1 e L NRF#S 95T wWFE | ERF
C32-5D38-195SP11 38 195 279 * Specification and model Insert model Screw  |Wrench|Stock
C32-5D38.5-198SP11 38.5 198 282 * €20-3D10-32WC02 10 32 98 *
C32-5D39-200SP11 39 200 284 * Gl 3 oo e L. e L s
- - C20-3D11-35WC02 11 35 101 *
C32-5D39.5-203SP11 39.5 203 287 * C20-3D11.5-37WC02 T1:5 37 103 *
W 104 18x4 | T
C40-5D40-2055P11 40 205 301 * C20-3D12-38WC02 12 20 351 30 104 ~ellig M. 5 *
C40-5D41-210SP11 41 510 306 x C20-3D12.5-40WC02 12.5 40 108 *
C20-3D13-41WC02 13 41 109 *
Cel-SD4e-21aar4 42 215 = x C20-3D13.5-43WC02 13.5 43 110 *
C40-5D43-220SP14 43 220 316 *
C40-5D44-2255P14 44 225 321 * — - - s
) KBS i e
C40-5D45-230SP14 45 40 | 230 | 70 326 * Specification and model & il B LE k Insert model Screw |Wrench|Stock
C40-5D46-2355P14 46 235 331 SP__ 140512 | M5x11 | T20 | * C20-4D10-42WC02 10 42 108 *
C40-5D47-240SP14 47 240 336 * C20-4D10.5-44WC02 10.5 44 110 *
C40-5D48-2455P14 48 245 341 * €20-4D11-46WC02 1 46 12 *
C20-4D11.5-48WC02 11.5 48 114 *
C40-5D49-250SP14 49 250 346 * C20-4D12-50WC02 35 20 o 50 116 | WC_020104 | M1.8x4 | T6 =
C40-5D50-2555P14 50 255 351 * C20-4D12.5-52WC02 12.5 52 120 *
C40-5D51-260SP07 51 260 356 * C20-4D13-54WC02 13 54 122 *
" e ) *
C40-5D52-2655P07 52 265 361 * B2l 3 55002 15~ 28 led
C40-5D53-270SP07 53 270 366 | SP_07T308 | M2.5x7 | T8 *
C40-5D54-2755P07 54 275 371 * AR S D Ds L1 e L HES k3] WF | ERH
Specification and model Insert model Screw |Wrench|Stock
. . -
C40-5D55-280SP07 55 20 280 0 376 TR i = 7T -
S0-uD 528550 26 263 200 x C20-5D10.5-55WC02 10.5 55 121 %
C40-5D57-2905P09 57 290 393 * C20-5D11-57WC02 11 20 | 57 | 50 | 123 | WC_020104 | M1.8x4 | T6 e
C40-5D58-2955P09 58 295 398 | SP 090408 | M3.5x9 | T15 | * €20-5D11.5-60WC02 11.5 60 126 L
C40-5D59-3005P09 59 300 403 * E20-5012-62WEDE 12 B2 128 -
C40-5D60-3055P09 60 305 408 *

< C G e

N
[—-]



€< £

N
-

U%& (U-Drill)
SOBY% 7L,/ U4L /M FLEE SO tyge U-drill Small Diameter

Ls

MRS 5 loellin Tie | o NRES gy | BF [E#E
Specification and model Insert model Screw |Wrench|Stock
C20-2D08-185003 8 18 86 *
C20-2D8.5-195003 8.5 19 87 *
C20-2D09-205003 9 20 88 a0 Fagtoz |Mil.axsib *
C20-2D9.5-215003 9.5 21 88 *
C20-2D10-225004 10 20 22 50 89 T6 *
C20-2D10.5-235004 10.5 23 90 *
C20-2D11-24S004 11 24 90 SO_ 040202 M1.8x4 *
C20-2D11.5-255004 11.5 25 91 *
C20-2D12-265004 12 26 92 *

MmE S 5 | os | 1] Ls . NREES 2y | WF | E#H
Specification and model Insert model Screw |Wrench|Stock
C20-3D08-265003 8 26 94 *
C20-3D8.5-285003 8.5 28 96 *
C20-3D09-295003 9 29 96 AR R0 Tle [ MLexao *
C20-3D9.5-315003 9.5 31 98 *
C20-3D10-325004 10 20 32 50 98 T6 *
C20-3D10.5-345004 10.5 34 100 *
C20-3D11-355004 11 35 101 SO_ 040202 M1.8x4 *
C20-3D11.5-375004 11.5 37 103 *
C20-3D12-385004 12 38 104 *

AT S el iy NRES gy | BT [E#E
Specification and model Insert model Screw |Wrench|Stock
C20-4D08-345003 8 34 102 *
C20-4D8.5-365003 8.5 36 104 *
C20-4D09-385003 9 38 105 00RO | MILBEE *
C20-4D9.5-40S003 9.5 40 107 *
C20-4D10-425004 10 20 42 50 108 T6 *
C20-4D10.5-445004 10.5 44 110 *
C20-4D11-465004 11 46 112 SO__040202 M1.8x4 *
C20-4D11.5-485004 11.5 48 114 *
C20-4D12-505004 12 50 116 *

MHE S T e By | BF [EE
Specification and model Insert model Screw  |Wrench|Stock
C20-5D10-525004 10 52 118 *
C20-5D10.5-555004 10.5 55 121 *
C20-5D11-575004 11 20 57 50 123 SO 040202 M1.8x4 T6 *
C20-5D11.5-605004 11.5 60 126 *
C20-5D12-625004 12 62 128 *

L IS Sk (Multifunctional drill bit)

TCAPZ ifitskhsk 2.25D TCAP type multifunctional drill bit 2.25D

o o s esiapdiipndgssih A T 1L | I ———— 8
e \\ e
L1 Ls
L
MIEEL S D Ds L1 Le L NRBS 1247 wFE | EF
Specification and model Insert model Screw |Wrench|Stock
TCAP 10R/L-2.25-C20 10 20 | 225 50 89.5 XCMTO050204 M2.0*5 T6 *
TCAP 12R/L-2.25-C20 12 20 27 50 94 XCMTO060204 M2.2*5 T6 *
TCAP 14R/L-2.25-C20 14 20 | 31.5 50 98 XCMTO070304 M2.5%6 T8 *
TCAP 16R/L-2.25-C20 16 20 36 50 101 XCMTO080304 M3.0*8 T10 *
TCAP 20R/L-2.25-C25 20 25 45 56 118 XCMT10T304 M3.5%9 T15 *

£ eSSk (Multifunctional drill bit)

TCAPZ HifEshsk 3D TCAP type multifunctional drill bit 3D

|
o s~ =hicppisle s ] a
e( @1 “ i ©
L1 Ls
GRS T L T NABE BT | WTF | E#E
Specification and model Insert model Screw |Wrench|Stock
TCAP 10R/L-3D-C20 10 20 30 50 97 XCMTO050204 M2.0*5 T6 *
TCAP 12R/L-3D-C20 12 20 36 50 103 XCMT060204 M2.2*5 T6 *
TCAP 14R/L-3D-C20 14 20 42 50 108.5 | XCMT070304 M2.5%6 T8 *
TCAP 16R/L-3D-C20 16 20 48 50 113 XCMTO080304 M3.0*8 T10 *
TCAP 20R/L-3D-C25 20 25 60 56 133 XCMT10T304 M3.5*%9 T15 *

< C G e

(L]
[—]



€< £

[ *+ ]
—

Z DhEESE 3k (Multifunctional drill bit) 2@ 455(JCD- Drill)

SFRIZIifEsssk 2.5D SF type multifunctional drill bit 2.5D JCDE B 54-3D JCD-Drill-3D

8 1 8 ==
Ls ‘ L1
L
Wi 2 NRRe 257 RE | EH _ MmES R R43EHE 1257 wF &
Specification and model E 5 - ke L Insert model Screw |Wrench|Stock SRS D e ° . o oe Hinds sizREangs e Lt | et
SF-10R/L-2.5D-C16 10 16 | 25 | 50 | 83 | QCMT050204 | M2.0*5 | T6 | = e - - - R [ — 3
SF-12R/L-2.5D-C16 12 16 | 30 | 50 | 88 | QCMT060204 | M2.2*5 | T6 | *
SF-14R/L-2.5D-C16 14 | 16 | 35 | 50 | 92 | QCMT070304 | M25%6 | T8 | * JCD C20-110-3D 1 33 | 24 | 20 | DCD-11.0-11.9 | CM2.2*9 | T6 »
SF-16R/L-2.5D-C20 16 | 20 | 40 | 50 | 105 | QCMT080304 | M3.0*8 | T10 | * JCD C20-120-3D 12 36 24 20 | CCD-12.0-12.9 *
SF-20R/L-2.5D-C25 20 [ 25 | 50 | 56 | 123 CMT10T304 | M3.5%*9 | T15 | *
d 2 JCD C20-130-3D 13 39 24 20 | [ICD-13.0-13.9 *
. ) . . ] JCD €20-140-3D 14 42 24 20 | [ICD-14.0-14.9 | CM2.5*12 | T8 *
% Th ek §h 2k (Multifunctional drill bit)
= . . rw— JCD C20-150-3D 15 45 24 20 | [ICD-15.0-15.9 *
SFRI ZThaEshsk 3.25D SF type multifunctional drill bit 3.25D
JCD €20-160-3D 16 48 24 20 | [ICD-16.0-16.9 *
CM2.5%14.2| T8
JCD C20-170-3D 17 51 24 20 | CCD-17.0-17.9 *
JCD €20-180-3D 18 54 24 20 | [ICD-18.0-18.9 *
{ " JCD C25-190-3D 19 57 29 25 | [CD-19.0-19.9 | cM3*16.5 | T10 *
o B s e e e B 1 o
(=3
td ) JCD €25-200-3D 20 60 29 25 | [ICD-20.0-20.9 *
L1 Ls JCD €25-210-3D i 63 29 25 | [CCD-21.0-21.9 *
L
JCD €25-220-3D 22 66 29 25 | [OCD-22.0-22.9 | CM3*19.7 | T10 *
JCD C€25-230-3D 23 69 29 25 | [OCD-23.0-23.9 *
JCD C32-240-3D 24 78 39 32 | [ICD-24.0-24.9 *
CM3.5*22.5| T15
JCD €32-250-3D 25 75 39 32 | OCD-25.0-25.9 *
R 2 npme BT | BE | EH ‘
Specification and model S ESe | s L Insert model | Screw |Wrench|Stock JCD €32-260-3D 26 | 78 | 39 | 32 | [ICD-26.0-26.9 vasean | 1os #
SF-10R-3.25D-C16 10 16 | 325 | 50 91 QCMT050204 | M2.0*5 T6 * JCD C32-270-3D 27 81 39 32 [CD-27.0-27.9 ' e
SF-12R-3.25D-C16 12 16 | 39 | 50 | 97 | QCMT060204 | M2.2*5 | T6 | =
JCD C32-280-3D 28 84 39 32 | [ICD-28.0-28.9 %
SF-14R-3.25D-C16 14 | 16 | 455| 50 | 101 | QCMT070304 | M2.5* | T8 | * CM4*255 | T15 ——
SF-16R-3.25D-C16 16 | 20 | 52 | 50 | 117 | QCMT080304 | M3.0*8 | T10 | * JCD €32-290-3D 29 87 39 32 | 0OCD-29.0-29.9 ¥
SF-20R-3.25D-C25 20 25 65 56 138 QCMT10T304 | M3.5%9 s * JCD C32-300-3D 30 90 39 32 [1CD-30.0-30.9 e
CM5*27.5 | T20
JCD €32-310-3D 31 93 39 32 | [CD-31.0-32.0 &

< C G e

[ L]



€< £

(L]
(L]

2B E5(JCD- Drill)

JCDE B 4-5D JCD-Drill-5D

8 8 o~
Ls | L1
[

MRS a i s NAR+EE 1257 wE | B
Specification and model Blade size range Screw Wrench | Stock
JCD C20-100-5D 10 50 24 20 [ICD-10.0-10.9 *
JCD C20-110-5D 11 55 24 20 [1CD-11.0-11.9 CM2.2*9 T6 *
JCD C20-120-5D 12 60 24 20 OcD-12.0-12.9 *
JCD C20-130-5D 13 65 24 20 [ICD-13.0-13.9 *
JCD C20-140-5D 14 70 24 20 JCD-14.0-14.9 CM2.5%12 T8 *
JCD C20-150-5D 15 75 24 20 [ICD-15.0-15.9 *
JCD C20-160-5D 16 80 24 20 [JCD-16.0-16.9 *

CM2.5%14.2 T8
JCD C20-170-5D 17 85 24 20 [ICD-17.0-17.9 *
JCD C20-180-5D 18 90 24 20 [JCD-18.0-18.9 *
JCD C25-190-5D 19 95 29 25 [1CD-19.0-19.9 CM3*16.5 T10 *
JCD C25-200-5D 20 100 29 25 [JCD-20.0-20.9 *
JCD C25-210-5D 21 105 29 25 JCD-21.0-21.9 *
JCD C25-220-5D 22 110 29 25 [JCD-22.0-22.9 CM3*19.7 T10 *
JCD C25-230-5D 23 115 29 25 [OCD-23.0-23.9 *
JCD C32-240-5D 24 120 39 32 [JCD-24.0-24.9 *
CM3.5%22.5| T15
JCD C32-250-5D 25 125 39 32 OCD-25.0-25.9 *
JCD C32-260-5D 26 130 39 32 [1CD-26.0-26.9 *
CM3.5%24 T15
JCD C32-270-5D 27 135 39 32 OCD-27.0-27.9 ¥*
JCD C32-280-5D 28 140 39 32 [[1CD-28.0-28.9 *
CM4*25.5 T15
JCD C32-290-5D 29 145 39 32 [ICD-29.0-29.9 ¥
JCD C32-300-5D 30 150 39 32 [1CD-30.0-30.9 *
CM5%27.5 T20
JCD C32-310-5D 31 155 39 32 [ICD-31.0-32.0 ¥

2B 55(JCD- Drill)

JCDEE$-8D JCD-Drill-8D

Al =1 =~ L _
ST 1 U e ) :
I's L1 |
L
mign e 5 Pl | KR~ EE 1247 wE | EF
Specification and model Blade size range Screw Wrench | Stock
JCD C20-100-8D 10 80 24 20 [JCD-10.0-10.9 *
JCD C20-110-8D 11 88 24 20 JCcb-11.0-11.9 CM2.2*9 T6 *
JCD C20-120-8D 12 96 24 20 dJcbp-12.0-12.9 *
JCD C20-130-8D 13 104 24 20 [JCD-13.0-13.9 *
JCD C20-140-8D 14 112 24 20 JCD-14.0-14.9 | CM2.5*12 T8 *
JCD C20-150-8D 15 120 24 20 [JCD-15.0-15.9 *
JCD C20-160-8D 16 128 24 20 JCD-16.0-16.9 *
CM2.5%14.2 T8
JCD C20-170-8D 17 136 24 20 Ocb-17.0-17.9 *
JCD C20-180-8D 18 144 24 20 [JCcD-18.0-18.9 *
JCD C25-190-8D 19 152 29 25 [JCD-19.0-19.9 | CM3*16.5 T10 *
JCD C25-200-8D 20 160 29 25 [JCD-20.0-20.9 *
JCD C25-210-8D 21 168 29 25 JcbD-21.0-21.9 *
JCD C25-220-8D 22 176 29 25 [JCD-22.0-22.9 | CM3*19.7 T10 *
JCD C25-230-8D 23 184 29 25 [OCD-23.0-23.9 *
JCD C32-240-8D 24 192 39 32 [1CD-24.0-24.9 *
CM3.5*22.5| T15
JCD C32-250-8D 25 200 39 32 OCD-25.0-25.9 *
JCD C32-260-8D 26 208 39 32 [1CD-26.0-26.9 ¥
CM3.5*24 T15
JCD C32-270-8D 27 216 39 32 0OCcb-27.0-27.9 4
JCD C32-280-8D 28 224 39 32 [1CD-28.0-28.9 ¥
CM4*25.5 T:15
JCD C32-290-8D 29 232 39 32 [JCD-29.0-29.9 ¥
JCD C32-300-8D 30 240 39 32 [JCD-30.0-30.9 ¥
CM5*27.5 T20
JCD C32-310-8D 31 248 39 32 [JCD-31.0-32.0 ¥




€< £

[ L]
an

2B E5(JCD- Drill)

JCDEE55-10 JCD-Drill-10D

HCD
287 h-HCD

S | 1 U [ = Y
g L1 ‘

MigR S D L1 D1 Ds NhR~TER 25T iRF E#F
Specification and model Blade size range Screw Wrench | Stock
JCD C20-100-10D 10 100 24 20 JCb-10.0-10.9 ¥*
JCD C20-110-10D 11 110 24 20 0Ocb-11.0-11.9 CM2.2*9 T6 *
JCD C20-120-10D 12 120 24 20 Ocb-12.0-12.9 4
JCD C20-130-10D 13 130 24 20 JCb-13.0-13.9 u
JCD C20-140-10D 14 140 24 20 [CD-14.0-14.9 CM2.5%12 T8 b4
JCD C20-150-10D 15 150 24 20 [JCD-15.0-15.9 *
JCD C20-160-10D 16 160 24 20 [CD-16.0-16.9 e

CM2.5%14.2 T8
JCD C20-170-10D 17 170 24 20 JCD-17.0-17.9 ¥*
JCD C20-180-10D 18 180 24 20 [Ccb-18.0-18.9 by
JCD C25-190-10D 19 190 29 25 [JCD-19.0-19.9 | CM3*16.5 T10 %
JCD C25-200-10D 20 200 29 25 [OCD-20.0-20.9 *
JCD C25-210-10D 21 210 29 25 OCcb-21.0-21.9 ¢
JCD C25-220-10D 22 220 29 25 [CD-22.0-22.9 CM3*19.7 T10 be
JCD C25-230-10D 23 230 29 25 OCDb-23.0-23.9 ¥
JCD C32-240-10D 24 240 39 32 [[1CD-24.0-24.9 7%
CM3.5*%22.5 T15
JCD C32-250-10D 25 250 39 32 OCD-25.0-25.9 ¥%*
JCD C32-260-10D 26 260 39 32 [1CD-26.0-26.9 i
CM3.5%24 T15
JCD C32-270-10D 27 270 39 32 OCcb-27.0-27.9 ¥%*
JCD C32-280-10D 28 280 39 32 [1CD-28.0-28.9 %
CM4*25.5 T15
JCD C32-290-10D 29 290 39 32 0OCD-29.0-29.9 ¥
JCD C32-300-10D 30 300 39 32 [JCD-30.0-30.9 *
CM5*27.5 T20
JCD C32-310-10D 21 310 39 32 JCb-31.0-32.0 ¥

Specificiutﬁféa:d model DE#& - # Srfo?k
HCD 100 10 3 138 *
HCD 101 10.1 3 138 *
HCD 102 10.2 3 138 *
HCD 103 10.3 3 138 *
HCD 104 10.4 3 138 *
HCD 105 10.5 3 138 *
HCD 106 10.6 3 138 *
HCD 107 10.7 3 138 *
HCD 108 10.8 3 138 *
HCD 109 10.9 3 138 *
HCD 110 11 3 138 *
HCD 111 141 3 138 *
HCD 112 11.2 3 138 *
HCD 113 11.3 3 138 *
HCD 114 11.4 3 138 *
HCD 115 115 3 138 *
HCD 116 11.6 3 138 *
HCD 117 11.7 3 138 *
HCD 118 11.8 3 138 *
HCD 119 11.9 3 138 *
HCD 120 12 3 140 *
HCD 121 121 3 140 *
HCD 122 12.2 3 140 *
HCD 123 12:3 3 140 *
HCD 124 12.4 3 140 *
HCD 125 12.5 3 140 *
HCD 126 12.6 3 140 *
HEDI127 1257 3 140 *
HCD 128 12.8 3 140 *
HCD 129 12.9 3 140 *
HCD 130 13 35 140 *

< C G e

(L]
(7]



€< £

(=)
-]

HCD
2R F-HCD

HCD
287 h-HCD

Specifit&tﬁ?a:d model DEE d a slfofk
HCD 131 13.1 3.5 140 *
HED132 13.2 3.5 140 *
HCD 133 133 3:5 140 *
HCD 134 13.4 3.5 140 *
HCD 135 1.3:5 3.5 140 *
HCD 136 13.6 35 140 *
HCD 137 13.7 3.5 140 *
HCD 138 13.8 3.5 140 *
HCD 139 139 35 140 *
HCD 140 14 35 140 *
HCD 141 14.1 3.5 140 *
HCD 142 14.2 35 140 *
HCD 143 14.3 3.5 140 *
HCD 144 14.4 3:5 140 *
HCD 145 14.5 35 140 *
HCD 146 14.6 35 140 *
HCD 147 14.7 3.5 140 *
HCD 148 14.8 35 140 *
HCD 149 14.9 3.5 140 *
HCD 150 15 3.5 140 *
HCD 151 1541 3.5 140 *
HCD 152 15.2 3.5 140 *
HCD 153 15.3 3.5 140 *
HCD 154 15.4 3.5 140 *
HCD 155 15:5 3.5 140 *
HCD 156 15.6 3.5 140 *
HCD 157 15.7 3.5 140 *
HCD 158 15.8 3¢5 140 *
HCD 159 15.9 3:5 140 *
HCD 160 16 4.2 140 *
HCD 161 16.1 4.2 140 *

Specificﬂautﬁféa:d model DE®Z d g Srfo?k
HCD 162 16.2 4.2 140 *
HCD 163 163 4.2 140 *
HCD 164 16.4 4.2 140 *
HCD 165 16.5 4.2 140 *
HCD 166 16.6 4.2 140 *
HCD 167 16.7 4.2 140 *
HCD 168 16.8 4.2 140 *
HCD 169 16.9 4.2 140 *
HCD 170 17 4.2 140 *
HCD 171 ji7l 4.2 140 *
HCD 172 172 4.2 140 *
HCD 173 173 4.2 140 *
HCD 174 17.4 4.2 140 *
HCD 175 175 4.2 140 *
HCD 176 17.6 4.2 140 *
HCD 177 17.7 4.2 140 *
HCD 178 17.8 4.2 140 *
HCD 179 17.9 4.2 140 *
HCD 180 18 4.5 140 *
HCD 181 18.1 4.5 140 *
HCD 182 18.2 4.5 140 *
HCD 183 18.3 4.5 140 *
HCD 184 18.4 4.5 140 *
HCD 185 18.5 4.5 140 *
HCD 186 18.6 4.5 140 *
HCD 187 18.7 4.5 140 *
HCD 188 18.8 4.5 140 *
HCD 189 18.9 4.5 140 *
HCD 190 19 4.5 140 *
HCD 191 19.1 4.5 140 *
HCD 192 192 4.5 140 *

< C G e

(L]
[—-]



€< £

(L]
(-]

HCD
2R F-HCD

HCD
287 h-HCD

Specifit&tﬁ?a:d model DEE d a slfofk
HCD 193 19:3 4.5 140 *
HCD 194 19.4 4.5 140 *
HCD 195 19.5 4.5 140 *
HCD 196 19.6 4.5 140 *
HCD 197 19:7 4.5 140 *
HCD 198 19.8 4.5 140 *
HCD 199 19.9 4.5 140 *
HCD 200 20 5 140 *
HCD 201 20.1 5 140 *
HCD 202 20.2 5 140 *
HCD 203 20.3 5 140 *
HCD 204 20.4 5 140 *
HCD 205 20.5 5 140 *
HCD 206 20.6 = 140 *
HCD 207 20.7 5 140 *
HCD 208 20.8 5 140 *
HCD 209 20.9 5 140 *
HCD 210 21 5 140 *
HCD 211 21.1 5 140 *
HCD 212 21.2 5 140 *
HCD 213 21.3 3 140 *
HCD 214 21.4 5 140 *
HCD 215 21.5 5 140 *
HCD 216 21.6 5 140 *
HCD 217 2.7 ) 140 *
HCD 218 21.8 5 140 *
HCD 219 21.9 S 140 *
HCD 220 22 5 140 *
HCD 221 22.1 5 140 *
HCD 222 222 5 140 *
HCD 223 22.3 5 140 *

Specificﬂautﬁféa:d model DE#E d 7 Srfo?k
HCD 224 22.4 5 140 *
HCD 225 225 5 140 *
HCD 226 22.6 5 140 *
HCD 227 22.7 5 140 *
HCD 228 22.8 5 140 *
HCD 229 22.9 5 140 *
HCD 230 23 5 140 *
HCD 231 231 5 140 *
HCD 232 2372 5 140 *
HCD 233 23.3 5 140 *
HCD 234 23.4 5 140 *
HCD 235 235 5 140 *
HCD 236 23.6 5 140 *
HCD 237 23.7 5 140 *
HCD 238 23.8 5 140 *
HCD 239 239 5 140 *
HCD 240 24 5.5 140 *
HCD 241 24.1 55 140 *
HCD 242 24.2 5.5 140 *
HCD 243 24.3 5.5 140 *
HCD 244 24.4 5.5 140 *
HCD 245 24.5 5.0 140 *
HCD 246 24.6 5:5 140 *
HCD 247 24.7 55 140 *
HCD 248 24.8 515 140 *
HCD 249 24.9 5.5 140 *
HCD 250 25 5.5 140 *
HCD 251 25.1 5:5 140 *
HCD 252 25.2 55 140 *
HCD 253 25.3 5:5 140 *
HCD 254 25.4 5.5 140 *

< C G e

o=
=



€< £

=
-—

HCD
2R F-HCD

HCD
287 h-HCD

Specifigtﬁr?a:d model DE# i 4 slifk
HCD 255 25.5 5.5 140 *
HCD 256 256 5.5 140 *
HCD 257 2537 5.5 140 W
HCD 258 25.8 5.5 140 ¥
HCD 259 259 515 140 W
HCD 260 26 55 140 b4
HCD 261 26.1 5.5 140 ¥
HCD 262 26.2 55 140 W
HCD 263 26.3 5:5 140 ¥
HCD 264 26.4 5.5 140 W
HCD 265 26.5 5:5 140 ¥
HCD 266 26.6 5.5 140 7
HCD 267 26.7 5.5 140 *
HCD 268 26.8 5.5 140 ¥
HCD 269 26.9 5.5 140 W
HCD 270 27 55 140 W
HCD 271 271 5.5 140 ¥
HCD 272 272 5:5 140 W
HCD 273 27.3 5.5 140 b4
HCD 274 27.4 5.5 140 pie
HCD 275 275 55 140 bid
HCD 276 27.6 5.5 140 ¥
HCD 277 277 5.5 140 ¥
HCD 278 27.8 5i5 140 *
HED279 27:9 o5 140 *
HCD 280 28 6 140 W
HCD 281 28.1 6 140 ¥
HCD 282 28.2 6 140 W
HCD 283 28.3 6 140 ¥
HCD 284 28.4 6 140 ¥
HCD 285 28.5 6 140 ¥

Specificiﬂtﬁr%a-:d model DE#E d a ngo?k
HCD 286 28.6 6 140 ¥
HCD 287 28.7 6 140 ¥
HCD 288 28.8 6 140 ¥
HCD 289 289 6 140 %
HCD 290 29 6 140 b e
HCD 291 29.1 6 140 ¥
HCD 292 292 6 140 ¥
HCD 293 29.3 6 140 ¥
HCD 294 29.4 6 140 b e
HCD 295 29.5 6 140 ¥
HCD 296 29.6 6 140 ke
HCD 297 29.7 6 140 ¥
HCD 298 29.8 6 140 ¥
HCD 299 29.9 6 140 b
HCD 300 30 6.4 140 ¥
HCD 301 301 6.4 140 ¥
HCD 302 30.2 6.4 140 s
HCD 303 30.3 6.4 140 ¥
HCD 304 30.4 6.4 140 ¥
HCD 305 30.5 6.4 140 7
HCD 306 30.6 6.4 140 e
HCD 307 30.7 6.4 140 e
HCD 308 30.8 6.4 140 *
HCD 309 30.9 6.4 140 e
HCD 310 31 6.4 140 "
HCD 311 31.1 6.4 140 *
HCD 312 5712 6.4 140 e
HCD 313 31.3 6.4 140 ™
HCD 314 31.4 6.4 140 *
HCD 315 31.5 6.4 140 e
HCD 316 31.6 6.4 140 w
HCD 317 317 6.4 140 *
HCD 318 31.8 6.4 140 ¢
HCD 319 31.9 6.4 140 ¥
HCD 320 32 6.4 140 w

< C G e

o=
N



€< £

=

#FL%h (Deep hole drill) #7L%% (Deep hole drill)
T iE D 8h 3k F #L%5 6D Spotting U-drill 6D =D ik iF 7L %4 8D Spotting U-drill 8D

5 Shk IR [T
Dfﬁlj‘t;%&dfta Acfggory Mg e Drill bit data ERES =i Accessory B
HigE S TERS Tt EF Specification and model Insert model | Centering drill 247 FE [Stock
Specification and model Insert model | Centering drill 4T R Stock = = = = L= Screw  |Wrench
D 1] L |Ds| Ls Screw  |Wrench WPD C25-20-8D 20 | 163 | 241 *
WPD C25-21-8D 21 171 | 249 *
WPD C25-20-6D 20 | 123 | 201 * WPD C25-22-8D 22 [ 179 [ 257 | 25 | 56 |, 030208 vase | 18 X
WPD C25-21-6D 21 129 | 207 * WPD C25-23-8D 23 187 | 265 ’ *
WPD (25-22-6D 22 | 135|213 | 25 | 56 - A S dein 24 | 195 | 273 *
HENNOSHEE visess | 8 WPD C32-25-8D 25 | 203 | 290 — *
WPD C25-23-6D 23 141 | 219 * WPD C32-26-8D 26 211 | 298 *
wocasawso | 2o | 2 : bosie: a0 on Lot o =
WPD C32-25-6D 25 153 | 240 S(B: V6D * WPD C32-29-8D 29 235 | 322 WCMX040208 M2.5*7D4 T8 | *
WPD C32-31-8D 31 241 | 340 *
WPD C32-27-6D 27 [ 165 | 252 % WPD C32-32-8D 32 | 249 | 348 | 32 | 60 *
WPD C32-28-6D 28 171 | 258 * WPD C32-33-8D 33 257 | 356 *
WCMX040208 M2.5*7D4 | T8 WPD C32-34-8D 34 | 265 | 364 -
-29- *
WPD C32-29-6D 29 177 | 264 WPD C32-35-8D 35 213 | 372 *
WPD C32-30-6D 30 183 | 270 * WPD C32-36-8D 36 281 | 378 WCMX050308 | PLDV-0835 M3.0*8 T10 *
WPD C32-31-6D 31 | 179 | 278 * WPD €32-37-8D 37 | 289 | 386 -
WPD (C32-38-8D 38 297 | 394 *
WPD C32-32-6D 32 185 | 284 | 32 60 * WPD C32-39-8D 39 305 | 402 *
WPD C32-33-6D 33 | 191 | 290 * WPD C40-40-8D 40 | 313 | 420 *
WPD C40-41-8D 41 321 | 428 *
WPD C32-34-6D 34 197 | 296 * WPD C40-42-8D 22 329 | 436 40 o e
WPD C32-35-6D 35 203 | 302 * WPD C40-43-8D 43 337 | 444 WC__06T308 PLD V-1035 M3.5x9 T15 *
WPD C32-36-6D 36 | 209 | 306 WCMX050308 | PLDV-0835 | M3.0*8 | T10 | * WRDC 04180 oMt AS *
WPD C40-45-8D 45 353 | 460 *
WPD C32-37-6D 37 215 | 312 *
WPD C32-38-6D 38 221 | 318 *
-39. MBS iE AshLEE
WPD 323380 - 427 | 324 i Specification and model D - Applicable drill bit type
WPD C40-40-6D 40 233 | 340 * PLD-V0630 TiN 6 30 VLT, TSD,TMD
WPD C40-41-6D 41 239 | 346 +* PLD-V0835 TiN 8 35 VLT, TSD, TMD
WD CHloED 5= | 2ag | acz . PLD-V1035 TiN-H 10 35 | VMD,VLT,MXD,TSD,TMD
40 | 70 — PLD-V1238 TiN-H 12 | 38 | VMD,VLT,MXD,TSD,TMD
WPD C40-43-6D 43 251 | 358 WC_06T308 PLD V-1035 M3.5x9 T15 * PLD-V1645 TiN-H 16 45 VMD VLT MXD.TSD TMD
WPD C40-44-6D 44 257 | 364 * PLD-2045 TiN-H 20 45 VMD,MXD
WPD C40-45-6D 45 263 | 370 * PLD-2556 TiN-H 25 56 VMD,MXD
PLD-3068 TiN-H 30 68 VMD,MXD

< C G e

o=



